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1. {a)

(b}

()

(b)

()

3 ia)

(k)

Find the sum of all the numbers between 9 and 204 which are exactly %ﬁlﬁiﬁ&ﬁl@iﬂm
(& marks)

On commencing employment, a man is paid an annual salary of Ksh 86,400 and
receives an increment of Kshs 750 every yesr, Determine:

(1) his anmual salary in the 90 vear:

(i} the total he will have received in the first 12 years, (6 marks)

In a geometrical progression, the sixth term is 27 times the third term and the sum
of the fourth and the fifth terms is 108.
Dietenmineg the:

(1) COTMITON Tty
() frst lom;

(iin)  swm of the ffth to the 1enth terms, inclusive, (6 marks)
Find the highest common factor of 110, 286 and 330, (2 marks)
Find the lowest common muliiple of the numbers 42, 56 and 140, (2 marks)

If £250 18 invested at compound mterest of 8% for per annum, determine:

4] the valoe after 1,2 and B years mspectively:
(i} the ime it takes W reach more than £600, correct 1o the nearest year,

(16 marks)
Ciiven the matrices
12 22 12 -15
e Y ISI‘ B=l10 19
Determine: (i) 4A+ 3B;
aiy Al
(i) 3B+ A%
(ivi (AB)"; (10 marks)
Solve the simultaneons aquation using o matrix method
2w + 14y = 38
I 5x+ 10y =30 (10 marks)
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4, (a) Evaluate;
: 10" % 1i¥
M JEE) (3 marks)
 lop126—log 625+ log 15625
'ﬁl:l' Elngs : {4 marks )
ih}  Solve the equations:
(i} logle-2) + log(x+2) = 2 log (x+3). {5 marks)
(i) 42D =509 eorrect 1o 4 significant figures. (B marks)
X35+ zi
s, (@) Stnphiy §+ “% 2| 2. (5 marks)
E e E"‘ 1
(b} Determine the number which must be added 1o both lhe numeratior and the
denomimator of # so that the new fraction equals —5 (5 muarks)
(¢} Without nzing 8 muthematical table or a calculator, evaluate
o B ot
(i) 3a’-3b'c +4b
“Zac +2b" -3¢
giventhata=2,b= -l andc =3, (3 marks)
{d) In a tool hox, there are twice as many bolts as nuts snd the ratio of the number of
surews 10 bolts is J-; .
(1) If there are x nuts, write down a simplified expression m x for the twotal number
of tools in the bax,
(i} Find the number of tools givea that there are 2) sorews, {4 marks)
0. Table | represents the frequency distribution of lengths of 150 components in
centimetres cut of by an awtomatic guillotine mechine.
Table 1
Class 0-15 1530 | 30 -45 | 45-60 | 60-75 | T5-90 |90 - 105
Frequency 8 26 ) 45 20 17 4
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Determine the: easytvet.com

(1) range; _ {1 mark)
{ii)  mode; {3 marks)
{iit)  Quartile deviation; {7 marks)
{iv)  Coefficient of variation. {9 marks)

1. {a) Simplify

E .rl Ay ir
(i) f’i's"—--—f -.E o (2 vhicrks)
. — 3t
) 30at- T8 i

(b Solve for x.

Prerk = kel (3 marks)

1o 256~ 5 lop 512

() Evaluate: - e (5 marks)
(d)  Convert:
(i) decimal 41 to binary, (3 marks)
(1) decimal 0.6875 to binary. (3 marks)

8. ta}  The percentage elongation for 50 samples of a wire were obtained and the results,
expressed correet o the nearest 1%, shown in Table 2.

Table 2
40 41 a1 43 40 42 43 41 42 42
47 40 39 42 41 42 41 4] 39 40
43 42 41 41 42 41 42 42 43 42
4 41 42 RE 30 a3 a0 41 42 31

42 41 40 40 41 Al 42 40 41 42

(i) Represent the data in a frequency distribution starting with 39-40, 40 - 41 eic,

(i) Draw a histogram from part (i) and bence obtain the median, (10 marks)
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(b} Given the data in table 3; easytvet.com

Table 3
28 35 fal “29 3B A48 a7 o7 ] 50
A8 40 47 42 41 37 3l 62 63 33

z

31 32 35 4 3% 37 6l 51 56
L) 4 42 38 6l 59 58 4 30 57
3R 4 45 45 &7 K ) 47 47 64

(1) Clonstroct a frequency lable using 25 - 34,35 - 44, .., as class intervals.

(i) Construct 2 less than commulative frequency curve and obtain the values lymg
between 37 and 58. {10 marks)
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